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Exercise

1. If  and  then

is

f(x) = x2 g(x) = sinx f ∘ g(x)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_tO5GWSS3foeP


A. sin^2(x)

B. sin(x^2)

C. (x^2 )(sinx)

D. sin(x^3)

Answer: A

View Text Solution

2. If  and  then

is

f(x) = |x| g(x) = [x]

f ∘ g( − )
1

2

https://dl.doubtnut.com/l/_tO5GWSS3foeP
https://dl.doubtnut.com/l/_yDcwjf0mQhxW


A. 0

B. 1

C. -2

D. -1

Answer: B

View Text Solution

3. If  is defined and 

 then  is

f :R– > R

f(x) =
3x + 4

2
f − 1

https://dl.doubtnut.com/l/_yDcwjf0mQhxW
https://dl.doubtnut.com/l/_LKORlr07zQum


A. (4x-3)/2

B. (4x-2)/3

C. (2x-4)/3

D. (4x+3)/2

Answer: C

View Text Solution

4. If  given by 

f^-1(x)` equals·:

f :R → R

f(x) = (x3) + 3, then

https://dl.doubtnut.com/l/_LKORlr07zQum
https://dl.doubtnut.com/l/_K46f7emEoo1m


A. 6(x^4)+(x^2)+ 12

B. (x^2)+(6x)+ 12

C. (x^4)+(6x)+ 12

D. (x^4)+(6x^2)+ 12

Answer: D

Watch Video Solution

5. If , then  =

Watch Video Solution

f(x) = (x2) f ∘ f(x)

https://dl.doubtnut.com/l/_K46f7emEoo1m
https://dl.doubtnut.com/l/_e8mL0E7sOuul


6. If , then =

Watch Video Solution

f(x) = 2x − 3 f − 1(x)

7. The smallest equivalence relation R on set

 is=

Watch Video Solution

A = {1, 2, 8}

8. The range of  is 1

Watch Video Solution

|x − 1|

x − 1

https://dl.doubtnut.com/l/_eOWEukYX6aJG
https://dl.doubtnut.com/l/_Hn1eIG6ySscF
https://dl.doubtnut.com/l/_dOECEJPdCHiO


9. If then 

Watch Video Solution

f(x) = 4x − 5 f − 1(x) =
x + 5

4

10. If , then find the

value of 

Watch Video Solution

f(x) = [x], g(x) = |x|

(fog)( ) − (gof)( − )
5

2

5

2

https://dl.doubtnut.com/l/_dOECEJPdCHiO
https://dl.doubtnut.com/l/_47Jn5rGB2Pse
https://dl.doubtnut.com/l/_3JggDDzSG72l


11. If  is defined by

is f(n) is one one function?

Watch Video Solution

f :N– > N

{[ ( if nisodd)], [( )( if niseven)]
n + 1

2

n

2

12. Prove that function

- is one-one and

onto. Also find .

Watch Video Solution

f :R → R, f(x) =
3 − 2x

7

f − 1

https://dl.doubtnut.com/l/_7QZHxcrjLTr2
https://dl.doubtnut.com/l/_pBDVlrOI5SC3
https://dl.doubtnut.com/l/_GsqvCySlyyrZ


13. Show that the relation 

is not equivalence relation

Watch Video Solution

R = {(a, b) : a ≤ b}

14. Let T be the set of all triangles in a plane

with R as a relation in T given by

Show that R is an

equivalence relation.

Watch Video Solution

R ≅{(T1, T2) : T1 ≅T2}

https://dl.doubtnut.com/l/_GsqvCySlyyrZ
https://dl.doubtnut.com/l/_V2bQDKCMdppn
https://dl.doubtnut.com/l/_y53iD5jeQvI3


15. Let  is defined as  is

neither one one nor onto

Watch Video Solution

f :R– > R f(x) = x2

16. Let  be a function

defined as  find

Watch Video Solution

f :R − { − }– > R
3

5

f(x) =
2x

5x + 3

f − 1 :Ran ≥ offR > R − { − }
3

5

https://dl.doubtnut.com/l/_y53iD5jeQvI3
https://dl.doubtnut.com/l/_SRg1V9MqaFev


17. If  is a relation on

N write the range of R

Watch Video Solution

R = {(x, y) : x + 2y = 8}

18. If  be given by: 

, then f(f(x)) is:

Watch Video Solution

f :R → R

f(x) = (3 − x3)
1

/3

https://dl.doubtnut.com/l/_50rXmvBbPB9H
https://dl.doubtnut.com/l/_EuOnOwsy8MLv


19. Let  and .

Consider the function . defined by 

Is f one one or Onto? Justify

your answer

Watch Video Solution

A = R − {3} B = R − {1}

f :A– > B

f(x) =
x − 2

x − 3

20. Show that the relation R defined by

, is divisible by 5, `a, b in N}

is an equivalence relation.

Watch Video Solution

R = {(a, b)(a − b)

https://dl.doubtnut.com/l/_Pregrs6N7evV
https://dl.doubtnut.com/l/_3mkOq2Hp1dUe


21. If  ,  show that 

 for all . what is inverse of

f?

Watch Video Solution

f(x) =
4x + 3

6x − 4
x ≠

2

3

f ∘ f(x) = x x ≠
2

3

https://dl.doubtnut.com/l/_3mkOq2Hp1dUe
https://dl.doubtnut.com/l/_L4Ns8wc7zf6R

